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NPTEL » Randomized Algorithms Announcements About the Course  Ask a Question Progress Mentor

Unit 7 - Week 5: Markov Chains

Course outline

Assignment 5

The due date for submitting this assignment has passed. Due on 2020-03-04, 23:59 IST.
As per our records you have not submitted this assignment.

How does an NPTEL online
course wark?

Week 0:Prerequisite
1) Consider the Markov chains A, M, M3 and M, whose transition probabilities matrices are as given below. Questions 1-6 are based on these 1 point

Week 1: Introduction to Markov chains. Which of following are irreducible Markov chains?
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Week 2: Probability Review

Week3: Moments and
Deviations
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Weekd: Probabilistic Method
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Week 5: Markov Chains (d) M,

® Introduction to Markov Chains
® 2-SAT and Markov Chains M,
® 3-SAT and Markow Chains M

Quiz : Assignment 5

Weekly feedback form for M;

week 5

My

Mo, the answer is incorrect.
Score: 0

Week 7: Number Theoretic Accepted Answers:
Algorithms M
M
Week 8: Graph Theoretic My
Algorithms

Week 6 : Markov Chains-ll

2)  Which of following Markov chains are aperiodic? 1 point

Week 9 : Approximate
Counting
M
Week 10 : Randomization and
Data Structures My

Week 11 : Computational M
Complexity

M
Mo, the answer is incorrect.

acore: 0
Accepted Answers:

M2
M

Week 12 : Summary

Download Videos

3] Which of the following Markov chains converge to the stationary distribution for arbitrary choices of initial distribution? 1 point

M,
My
M

M

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Mo
M

4) The distribution p = (=, =, =5 =5 =, = ) IS a unique stationary distribution of which of the following Markov chains? 1 point

My
M
My

M

Mo, the answer is incorrect.
acore: 0

Accepted Answers:

M2

3) The k step transition probability between state i and j is denoted by pr Which of the Markov chains could have p‘{l = () for some k where 1 point
kE > 1007

M
M
M,y

My

Mo, the answer is incorrect.
Score: 0

Accepted Answers:

My
My

6) The k step transition probability between state i and j is denoted by pr Which of the Markov chains could have p’ﬁ‘ﬁ = () for some k where 1 point
k> 1007

M
M3
M,

My

Mo, the answer is incorrect.
Score: 0

Accepted Answers:

My

7) Consider the randomized 2-SAT algorithm. Which of the following statements are true? 1 point

Given an unsatisfiable 2-SAT formula as input, the algorithm always returns the correct answer.
Given an unsatisfiable 2-SAT formula as input, the algorithm can return an incorrect answer.
Given a satisfiable 2-SAT formula as input, the algorithm always returns the correct answer.

Given a satisfiable 2-SAT formula as input, the algorithm can return an incorrect answer.

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
Given an unsatisfiable 2-SAT formula as input, the algorithm always returns the correct answer,

Given a satisfiable 2-SAT formula as input, the algorithm can return an incorrect answer.

8) Consider the randomized 3-SAT algorithm. Which of the following statements are trug? 1 point

Given an unsatisfiable 3-SAT formula as input, the algorithm always returns the correct answer.
Given an unsatisfiable 3-SAT formula as input, the algorithm can return an incorrect answer.
Given a satisfiable 3-SAT formula as input, the algorithm always returns the correct answer.

Given a satisfiable 3-SAT formula as input, the algorithm can return an incorrect answer.

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Given an unsatisfiable 3-SAT formula as input, the algonthm always returns the correct answer.

Given a satisfiable 3-SAT formula as input, the algorithm can return an incorrect answer.



